Algebra 1 - Chapter 6

Lesson 1
Evaluate the expression.
1. (-7)° 2. 4° 3.5*
1
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4. (-2)" 5. 2 6. G2
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©° " 33 A L[ S = -2l
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Simplify the expression. Write your answer using only positive exponents
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Lesson 2
Rewrite the expression in rational exponent form.
1.vio | 2. V32
3 <
\O 34

3. ¥8)° 4. (V—21)°

Qs 1% Q1
Rewrite the expression in radical form.
5 153 6. 140'®

DIy 2o

7. (-4 \ g5/2
DY A7

Find the indicated real nth root(s) of a.
9. n=2, a=z=36 10.n=4,4a =81

x= 3 =3l
A=, | X_ _51 ,

11. n=3, a=1000 12. n=9, a = -512
X - 100D x'= -513
X-10 N

Evaluate the expression.
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13. Y¥=216

-b

lsN(_g%/Z)\

17. (- 243)2/5
(- a%kya

(-2Y
q

19. (27)-2/3 _L )
Une
@4—’_\653 = (97 1‘)

+
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16. 125%3
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18. 3433

(343 3) 4
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20. (9)*? L - J- )
§% - (§FF T F 503

Abstract Thinking.. Let x be a nonnegative real number. Determine whether the statement is
always, sometimes, or never true. Justify your answer.
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Determine whether the equation represents an exponential function.

1.y = 47) 2. Y = -6x

oS5 No

4. Y = -3% 5.Y¥ = 9(-5)

kﬁ@ G Yes

3.Y=2x

NO

6. Y = (1)

Te S

Determine whether the tables represents a linear or exponential function.

7. ' | 8.

-3 0] 3[6]o

L x |y X
1| —2 \ i
2 | o T\ O 3
3 | 2 IE
4 4 4
L ] — L
“[x][-t[o 1 ]2]3] * [x]
‘y;0.25|1|4 16 | 64 y |
Evaluate the function for the given value of x.
11.Y= 33 x=2 12. F(x) = 32y x = -1
3=49 3BY =
A&
14, f(x) = 0.5% x = -3 15. F(x)=§(6)*; x=3
V2 A% A\
5 = d 5 (L)

2 £ QW)
A

10 | 1 \-s_'[_—rf_—zs_
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13.Y=-4(5) x=2

“4(sY
-4(3s)
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16.Y = $(4y; x == '
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L% 4)
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Solve the Equation.
1. 45x = 410
5x=10

S S

X= o\

3. 2% = 2¢*°

5. 216’( = 6x+10

(03(_;0 - (9)(‘\ 10

v = k410
-x ~¥

da=10

o O

2. 7x-4 = 78
X4 =

Hq #

x>

4. 3* = 243
3*= 3%‘
X=S

= Qx-2

6. 27%
) ax-3)
53Lx) - %

= QK-
-3’; 'axq

1
e
ar
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Find the sum or difference.
9. (Sy + 4) + (-2y + 6) 10. (-3p® + 5p? - 2p) + (-p® - 8p? - 15p)

Sy+t-ausly 9687 -1
gl ~4p>32-17p |

11. 6x + 9) - (7x + 1) 12. (4m* - m + 2) - (-3m? + 10m + 4)
X497 -| S pts 3+ 32 -1
A 13 I nS-1lm &

13. (9r° + 4r - 7) + (3r° - 3r) 14. (-r - 10) - (-4r° + % + 71)

%"’%Ly—") +%/) AV (Y-
78( + 0 - W 2 ¢ (?:' =10

Complete the statement with always, soTetrmes Pr never. Explain your reasoning.
15. The terms of polynomials are L)) 9 monomials.

16. The difference of two trinomials is 6@(\09() MQCJ a trinomial.

17. A binomial is ___{ |\ nQ’\‘\M - a polynomial of degree 2.

18. The sum of two polynomials is Gy g 5 a polynomial.
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Find the degree of the monomial.

1. 23x*

.

3. 8m%n*

b

4, -3q'rs®

Write the polynomial is standard form. Identify the degree and leading coefficient of the
polynomial. Then classify the polynomial by the number of terms.

5. 6¢2 + 2z* - ¢
A3

DY
LC. A

Thonomiol

7. 318

Lc. 3
Mononiia

6. 8d - 2 - 4d°
SR
D
L(,:%-Ll
Trinomal

8. 7 + 3p?

207+

D 9

LC. 3
%\ﬂOm'\Ot
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Use the distributive property to find the product.

1.{y+ 4y + 6)

Y)Y+ y (o) + 4G4 ()
Y Yoy Uy

By

Use a table to find the product.
3. (y + 10Xy - 5)

i AC
y\ ]\Oy\
S
-G —§\/ 60
-Sg_%()
Y 1o

5_:/,6;1

Use the FOIL method to find the product.

5. (w+ 9w + 6)
2 utow+S
1LY HSwtS

\

7. (8 - 4x)(2x + 6)

Nox 49 ~3x2-24 v
L'?x "Bx+V3|

2. (a + 8)a - 3)

ale) +0L -2)+ 3(c) +3-3)

0°-3q+3a -9Y
e *4Sa M

4 (59+3)(q+8) 2

2

ﬂ‘%(%

6. (x - 4)(x + 8)

Y- x+3x -3
X7+ 32"7

o ——

8. (v- 3)(v? + 8v)

___V_'gjgy -3, A-v

+“}V ’&qVJ
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Find the product.
9. (x + 1)(x? + 4x + 8)

X447+« +Ka+55_?{x*
| XQ’-&SKQ-\!—‘&K‘??‘S

11. (d + 6)2d*> - d + 7)

Q-3 N1A x APl +49
| 247t W34d+4d |

10. (x - 2)(x* - 5x + 1)

)Qg’- 5;\9-5- )& -@)(?'! DX 'a

”7;(8.-1- ¥ -2

_ ezarrEve -

12. (3e? - Be + 7)(6e + 1)

|3 +3e%-308-5e +1de+]

l e’ -1 3e i’J
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Find the-product.
1. (x + 8)

(x-+3Yx+B)
K Gt Bt

¥ .
Wl |

3. (-12 - x)?
(H3xY: —\Q—x\
\L\% + QxR+ x

\ Ko+ QUnH W"(

5.(x-7)x+7)

YO k=49
Y-

2. (5x + 2)?

(S x4 YSxA)
35S« 10c+ 10+
5’5;( -k&D&t\{_L

4. (6x - 3yy’

UDX’ lox-2y )
j!g \\xy -|3ny +qY

6. (X + 6)(x - 6)

X2 {ox+ox-3b
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;ess(;':: 8n)(7m - 8n) 8. (-5g - 2h)(-5g + 2h)
LR +SAomn - Stana ~h0 ® &5 10 10 4>
\//m -Wn> | | @g *4h> |

Write a polynomial that represents the area of the square.

9. X A 10. X 7 x»l
x[X3] Yx ) X T
><3+q><+4x+\‘o (X7 K |X 7
X CA3x+lo | WP 4 £ +7X+XA;Z§
| Upe+93 T
11. T 12. dc + Ad
€1 = i LS
| mn-S ! —-U(C{'qd
Bl = 2
(70-530n=5 ) (qcha\t c+qci A
L\q ?_350 35N 1T | (e >+ Locd 4l | Wp
L\ n _')me&g‘\ L,;é’-& 3&,{.’1 +\bd
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Solve the equafion.
1. x(x+7) =

3.121(t-5)=0

=0 tS=0

\& | ’A - )
| t=o | &,isﬂg

5.(s-9)s-1)= o

C =
.Hqs"?q 6.{ (‘

7. (2a - 6)(3a + 15) =

Moz 0 ?;@-H%'_o

to *o 32{: -1S
[Se L) -8
> 3 B 3
,.% y q' g_
9. (5x + 4> =0

‘57\#4 oL\
Evs_ 4
5

X-«%

‘\-‘_\- — ..'

2. r(r-10) =
\V(:‘Q \ _("\\%:90

| | =
sV
| - I\ [ —

6.(y+2Xy-6)=

}‘@ =0 Y‘lo'"O

-9 "2 Ho 1o

U':.Q_J e

8. (4x +3)(x+2)=0

10. (x-8)° = 0

X %«o
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11. B-2xX)(7-%x)=0
L= TI%=0
_omeR=l IR

— = 3 —As-1

LN

_13. x(x+2)(x 1)=0

\xgo N@J) Xﬁ O\
ngqé {ﬁ; 1

|

15. (r-4)*(r+8)=0

PMGO 3= 0
" -z -3
;__Li_ \“— 2

___\

17. (15 - 5¢c)X5¢c + 5)(-c + 6) = 0

165i~o ékf?' —( Ao~ O

s b b
s S ==
=3

o %’__‘5
EE?;S \é} |\ t? -G}

Factor the Polynomial.
19. 5x® + 45x

21. 3y* - 9y*

12. (2-4d)(2 + 4d) = 0

&—%d =Q &wd) O

-
-Ad:;% e
= 11 ) :"é'\ \
_j;Q_.J ;i-/'fgh'_3

14. 5p(2p-3)p +7) = 0

ID-3=0 O
%72 ST, M9
peol 2273

a&

( r"\j !

16. W(w - 6)z =0

0
fbk{) u§b+b

L=

18. (2-n)(6 +2n)(n-2)=0

:D (O—tg\(\:D
- b —

=0
rla *a

20. 6dZ -2id

w@d-iz

22.120)(3“* 30%%

D)\g (‘Q)( 'i’??)

B
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23. 5n® + 2n°

Solve the equation.
25.4p*-p=0

27. 25¢ + 10c? = 0

Sc(5%40)=0

- S4=0_
e 55

26. 6m? + 12m = Q

(om(M+)=O

mg\s O VY\‘\'a :—93
R . =

e —

|\ m=0/ n=-39|

28. 18x - 2x?

6?)\@ X’\}( =0
a;Q ’%‘ _ 9’
e S B
w«‘g - =
=
=t
42 RBr=0
-Y¢(r+MN=0
-W=0 (:\'___'1:9’
~L )
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Factor the polynomial.

1. %%+ 8x +
(xJﬂ\(MlS

3.n2+9n+ 20

(S N+

5. h* +11h + 18

(1S + 3)

(-0

9.d*-5d+ 6

(A-3Yd-3)

2. x*+10x + 21

(AN &+ 3)

4, x* + 11x + 30

(x-& (oXx—t )

(1S

8. x* - 13x + 22

(- (A-3)

10. k? - 10k + 24

(k=) R-Y)
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11. w2 - 17w + 72

(e w-3)

13. x% + 3x -
CX-MB X~ ‘\

15. n® + 4n - 12

(04)(n-3)

12. 2 - 13j + 42

(5

14 x? -

XY+ D)

16. x* + 3x - 40

(x+$3 -5

18. h? + 6h - 27

OHCDUD -3

22. 7y+y - 30

30
O( \O YXM )
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Solve the equation.
23. m*+3m+2=0
(i \’i O
- wmi=0
M=o, WY

- -

[W=-3 \m=-

25. x> +5x-14=0

(x+NK-D=0

= -0
X:t? -7 x*a 13

27. 1% + 15t = -36
43 Y™

2553620
(E+\ DA =0

T\Q = 3= 0
tR=q 3o,

Sm———

[€=3) f=31

29. a? + 5a - 20 = 30
-30 —506
0”4Sa-S0° o
(a+\oMa-5)=0
Ylo=0 aS=0©O
q—lo -0 1< A<

31. m%>+ 10m = lér(nY; ?:;13\‘!
- m —
o -\3‘3

M-S m+3U=0

Not Tadpalde.

24.n"*-9n+18=0

| {ﬁ- G\Qﬂ -3)=0
N-bz=0 0O-3=0

o o 3 43
%) 13

26. v +11v-26=0
(U D)V -&35 90
Vti3=9, Va5

32. b*+ 5=8b - 10
-3 0-RN A0

23p3)S=0
o o 3o
vSs3 o-2=0

R
o3\
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Factor the polynomial.
1. 3x + 3x - 6

2P r2)
2 x+ SNxA)

3. 4k? + 28k + 48

L (K+T% 1)
U (243D

5. 7>¢ - 63x + 140

7(x*-9x + 30)
x=DAS)

7.3h% + 11h + 6

(v D+ 2D

=R
IO x-2)

4. 6y’ - 24y + 18

6. 9x% - 36x - 45

Ax>-4x%=5)
A (%S Y XA

8. 8m>+ 30m + 7

(}\WH Nam+ T
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Ge-hR )

11. 3n* + 5n - 2

(3n -\ X0+ 2)

13. 8x2 - 10x - 12
2 (U *-5%x b )
O(Ur X — )

15 -3»2 + 11x - 4
NELATSY

- @ x 3D

10. 10x? - 31x + 15

(5%-3)Y@x—5)

12. 4x? + 4% - 3

@x+30x -

14, 18x% - 15x - 18

3(lox>-5% )
3 (@x - Y3x+Q)

16. -7x% - 25x - 12

- (IxP+35x+ 1)
- Y XK+ 3
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17. -4x% + 19x + 5
—(Ux>= 195D
- (Ux+ VX x—9)

19. -15y° -y + 28
-(15y°4y -23)
- (5% +1 t(_ax -4

Solve the equation.
21. 5x2-5x-30=0

5(x%-x-L)=0O
S (x-3xx) = 0
St SR

— % I

o

23. -12n’ - 11n = -15

- 1 ¢ - 1\ 3 ®)
- “W\n-1sH)=0
- (4n- 3 @n *‘5%305‘0
7 = N+ —
@ Ufnﬂ% +D°) N “S STS‘

\n=g

= 53 |

18. -8x% - 13x + 6

— (%24 13 2-b)
- (%)\—BXX?( 3 )

20. -22x* + 29x - 9
— C&ax’-\ _gqx_{.q )
~(lx =% = 1D

22. 2k*-5k-18 =0
BNt oo
vq=0 ¥ri=y

—49 +9

24. 14x* -2 = -3x

+Hy 45
I4x?42x-2= 0
(x - aYax+1 )=

IX-3=0 aX+l:9;

._i

15 43

Ix=2 =L
p N
VAN [x=1
RS =



